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Use synthetic division for the value given.
f(x) = x"-8x3+10x? + 2x + 4 x=2
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Steps

Write out the coefficients (make sure it's in standard form)
. Put a"0" for any missing exponents

Bring down the first number

. Multiply 2 * 1 and add that to the -8

. Continue this process until the end

. The last number is the remainder
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Use synthetic division for the value given.

f(x)=x5-25x3-7x*-37x+8 x=-5
725 77 737 8
J +10
Steps
1. Write out the coefficients (make sure it's in standard form)
2. Put a "0" for any missing exponents (x* is missing)
3. Bring down the first number
4. Multiply -5 * 1 and add that to the O
5. Continue this process until the end
6. The last number is the remainder




